Question #1     Fei-Chien Chang
Total points: 24

a. 4 points

· be willing to give up some of one good (2 pt.

· to get more of another good. (2pt.

· Common error: part (a) is asking about the meaning of “Substitution postulate”. However, some students were answering the definition of “Substitutes”. I only gave 1 point to this kind of answer.

b. 5 points

· Common error: inflation is an average increase in prices, calculated based on a basket of goods. Some students incorrectly answered that it is an increase in the price of a good. In addition, some may answer that the value of money decreases due to an increase in money supply. For these errors, partial points are taken off.
c. 5 points

· finding a trading partner (2pt.

· identifying the quality of what the trader has to offer (1pt.

· to negotiate the price of the trade (2pt.

· Common error: some students only explain the meaning of opportunity cost while the question is asking the cost of trading.

d. 5 points

· The factors other than price ( 2pt.

· influence a consumer’s willingness to trade (or affect demand) (2 pt.

· and thereby “shift” the consumer’s demand schedule (1pt.
· Partial Credits given depending on the completeness of your statement.

· Good example: some students list all parameters of demand in the lecture notes or give graphs to discuss a change in quantity demanded (move along the demand curve) and a change in demand (demand curve entirely shifts).

e. 5 points

· Points taken off for missing the point of the statement.

Question #2     Bill Juzwiak
I gave 6 points for each of 4 parts.

For part i, they got all 6 if they wrote that there is no way for Economics to tell us the answer.  Failing this, they got 3 points for writing that Chris’ marginal value for candy is higher than Jody’s.

For part ii, I gave 3 points for the correct answer, and 1-3 more for the explanation.  “different marginal values” was enough to get all 3 explanation points.

For part iii, I gave 3 points for correctly analyzing the trade (i.e Jody sells candy to Chris), and 3 more for correctly analyzing the change in marginal value.  Those who incorrectly analyzed the trade, but followed that logic to write that MV decreased got 3 points.

For part iv, answers tended to be right on or (more often) way off.  Consequently, there was little partial credit.  I gave a few points to those who said she would buy candy at FM and soft drinks at WM.  A few people answered Fred Meyer and had the beginnings of a correct explanation and got 3-4 points.

Common errors:

In general, I think the most common error was to read the question incorrectly.  Particularly, many people assumed the people did not buy soft drinks even though the question states that they did, and a great many did not answer the question that was asked in part iv (Note that a great majority left the exam early, so I think most have time to read the questions more carefully.).  It was also very common for students to get full credit on the first 3 parts, but get iv wrong.  Many people hedge their answers, not writing about the given situation, or writing that, for example, trade may or may not occur, but without stating conditions.

Almost everyone answered part i correctly.  The only real error was to not recognize that ‘like’ is not an economic concept that we can analyze.

In ii, the most common eror was to fail to connect price to marginal value.  Also, many people explained the general conditions for efficient trade, but failed to apply them to the given situation.

In iii, the most common mistake was to do the correct analysis, but predict the trade incorrectly (i.e. conclude that Jody buys candy, thus decreasing her marginal value).  Also many people assumed she would trade candy for money, which is possible so I did not deduct for this if the analysis was correct.  Again, many people gave general conditions but did not apply it to the stated problem.

For iv, the most common error was to do a simple analysis of the price of soft drinks, rather than analyze both prices.  Many failed to recognize that Chris could substitute to a better option at Fred Meyer.  A fair amount of people miscalculated total expenditure and never really addressed the question.

An example of a good approach follows:

Jody at FM:

P(candy) = .50

P(sd) = .40

Chris at WM:

P(candy) = .60

P(sd) = .20

Buy until marginal value = price

Chris’ MV(candy) > Jody’s MV(candy)

Chris’ MV(sd) < Jody’s MV(sd)

i)
We have no way of knowing who likes candy more.

What we do know:  Chris would give up more money (or soft drinks) to get one more candy than Jody would.

ii)
Yes, because their marginal values are different.

iii)
Jody sells candy to Chris for soft drinks.  Thus, Jody’s candy holdings decrease.  Thus, her MV(candy) increases.

iv)
Calculate total cost of 8 candy + 4 soft drinks at each store, which is $5.60 in either case.  To make this purchase at Fred Meyer would mean that MV(candy) > price and MV(sd) < price.  Therefore, Chris can be better off by buying more candy and fewer soft drinks.  This means that something better than Wal-Mart’s best option is available at Fred Meyer.  This means that Chris should prefer the prices at Fred Meyer.

Question #3     Stephanie Price

Please note, this question is not “does this question make logical sense,” but rather “economic sense.” Pedantic answers did not receive credit. 

 Does each of the following make economic sense?

“2006 was a record crop year for soy bean farmers.  Thus times are particularly difficult for these farmers.”

4 Key Point to make each worth different amounts: 6 points total. 

i)Yes/No (1-3 points depending  on justification. 1 point awarded for “Yes” with non relevant info to back it up, 2 point awarded for “no” with some sort of economic reasoning to justify it. 3 point awarded for “no” with sound econ reasoning, just not taking into account the elasticity of the supply curve. And 3 + points from justification if you were on the right track.)

Justification:

ii) 1 point: Explain that record crop year indicates the supply curve is shifting

iii) 1 point: The shift in supply curve indicates a larger q in the market and smaller p. TR will change because of this. 

iv) 1 point: Depending on the elasticity of demand, the TR will either increase or decrease. If demand is inelastic, then TR will decrease and the statement makes economic sense.

Full credit was given if you assumed demand was elastic, and answered “no” and included point ii) and iii). 

Points taken off for: assuming that demand changed as a result of an increase in supply (0 points awarded). (-1) For other incorrect economic reasoning.

Partial Credit given for saying something economically sound, but missing the point of the statement.  Most common and most intuitive: supply is increasing, so therefore more supply indicates a greater quantity to sell, and therefore revenue to the farmers must go up and hence times would be good. This does not take into account the elasticity of demand, and so 3 points/6 given. Also, an increase in costs to harvest the soy (decreasing returns to scale, which doesn’t take into the fact that a farmer will not harvest that unit of soy unless the marginal benefit is greater than the marginal cost hence partial credit). 4 points given for setting out i-iii w/ “no”, and assuming the farmer’s could restrict supply in order to maximize profits.

This makes economic sense if the demand for soy beans is inelastic.  A record crop year means a large quantity available.  If demand is inelastic (E<[-1]), the percentage increase in quantity will be less than the correspondent percentage reduction in price.  Thus with an inelastic demand, the percentage increase in the quantity produced will be less than the resulting percentage decline in price and the farmers’ incomes will be reduced. 

Food, shelter and clothing are basic human needs for all people.  However, as a society becomes wealthier, other things such as medical care and education become basic needs.

Yes/No (1-3 points depending on justifications)

(2 points) Stipulate that “basic needs” is a nonsensical term to use in economics.

(1 point) Explain that as wealth increases, people will substitute goods.

Lot’s of missing the point that “basic needs” is not an economic term which led to not credit.

This makes no economic sense.  In economics, there is no testable mechanism to identify “needs”.  People will substitute some of one good, including food, shelter and clothing, for more of other goods.  Since neither the first not the second sentence of the passage makes any economic sense, it cannot be considered true.

Governments can't correct a scarcity but they can correct a long lived shortage.

3 points possible for parts i) and ii) and 3 points for parts iii) and iv). If the either the topic of scarcity of gov’s involvement with long lived shortages skipped, then -3 points.

(1.5 points) Yes, government cannot correct scarcity

(1.5 points) This is because scarcity is a fact of nature, etc etc, (define scarcity).

This makes economic sense.  A scarcity is a fact of nature and our preferences.  A scarcity simply means that we don’t have all we would like of many things.  There is nothing the government can do about scarcity.  Regardless of how successful the economic policies of the government might be, there will still be things that we would like to have more of.

iii) (1.5 points) No, governments cannot correct a long lived shortage

iv) (1.5 point) Governments must let the market adjust (increase) to equilibrium prices and quantities, and price controls prevent competition to create shortages.

If yes was answered in (iii) with a justification of the government stopping price control and letting prices adjust, full credit was given, however with justifications that include governments manipulating supply did not receive credit (-3 in iii and iv). Answers indicating that the gov. could do research  and subsidize sectors in order to increase production received 1.5/3 on this part. 1/3 given for answers that included “yes” and said something economically sound, but really didn’t have much to do with government stopping its “dominant coercive force” and instead rationing such that the time spent waiting was now part of the price, which is how the supply and quantity demanded would equalize. No credit for explaining the government could ration or enact price controls without relevant explanation.

A shortage, however, means that at the current price, the amount that people would like to trade for is greater than the amount other people would like to trade away; that is, quantity demanded exceeds quantity supplied.  A shortage is self correcting unless coercive force impedes the competition among the demanders to raise the price.  Hence, a long lived shortage occurs only if the dominant coercive force (the government) has prevented buyer competition.   The government can therefore correct the shortage by allowing the competition.

d.  A consumer’s marginal value can be inferred from his demand schedule.

This makes economic sense.  The demand schedule tells us the consumer’s preferred purchase amount at alternative prices.  Since the consumer will continue to buy only if the benefit (=marginal value) exceeds the cost (=price), at the preferred quantity for each price, the consumer’s marginal value will be about equal to the price.   

Full credit for: “Yes” plus definition of MV and that demand schedule is a set of MV’s in terms of dollars, or the same answer plus a tweaing of “inferred” to something else.

Partial Credit for: “No” and indifference schedule shows MV’s of a good, and the difference between the two (some explanation needed).

No Credit for: “No” plus incorrect justifications, such as demand schedules not including supply, or just saying the it comes from an indifference schedule.

Question #4    Peter Fulekey

The subquestions were worth:

a.

6 points

b.i + b.ii
6 points

c.i

6 points

c.ii

6 points

a.

The main point of the question was the Second Law of Demand, i.e. demand will be more elastic in the Long Run. The perfect answer was if students gave a range for elasticity (-infinity, -2/10), where -2/10 is excluded from the range, and explained their position. Students who said that elasticity will be higher because we moved (to the northwest) along the demand curve missed the point of the question, which, again, was the comparison of the Short Run and Long Run. A common mistake was to say that in the Long Run, quantity demanded will come back to the original level. The opposite is true: in the Long Run, there will be more time and opportunity to respond to the price increase and find substitutes. As a result, quantity will continue to fall in the LR. “In May, consumers would have had little time to respond (by for example, changing cars, using public transportation, car pooling, moving, …).  By September (four months later), consumers will have been able to respond more to the price increase.”

b.

This question asked for the comparison of i and ii: a comparison of cross section and time series data. The vast majority of students did not understand the question. They tried to answer i and ii separately indicating how one's elasticity of demand would vary from state to state if prices in these states were different, or how one's elasticity of demand would vary in the same state if prices were changing. In essence, they said that because we move along the demand curve (to the northwest when prices increase and to the southeast when prices decrease) this will result in a change in the elasticity of demand. Only a few students argued along the lines of permanent vs. temporary changes in prices/taxes. However, even then they were usually confused which option leads to permanent and which to temporary changes. A good example was moving from say Texas to California, a permanent change, which may have immediately a large effect on consumption (elastic). On the other hand, noisy prices will cause the consumer to stick to the consumption level corresponding to their expected price (inelastic).

c. i

When answering this question, a common mistake was to say that the rich neighborhood's elasticity of demand will be higher (consumption will fluctuate more), because they consume more. Quite the opposite: they can afford not to change their relative consumption much for a given increase in prices.  Answers that talked in absolute terms were incorrect: elasticity is the relative (%) change in quantity caused by a relative (%) change in price. A few students provided a graphical explanation, displaying how the demand curve shifts to the right as income increases. Then, at a given price, the poor are consuming at a more elastic point on their demand curve than the rich on theirs.

c. ii

Almost everybody got this one right: “we expect a greater elasticity (more elastic) demand in the community with the good public transportation system, since public transportation will be a substitute for driving and using gasoline.” And demand is more elastic when there are good substitutes available.

Question #5    Yu-I Peng
(i) 12 points

1. Students who pointed out that the 3rd postulate (diminishing MV) is violated because the MVs of the 2nd and 3rd food unit are the same. ( 12 points 

2. Students who pointed out that the 3rd postulate (diminishing MV) is violated but whose explanations for the other two postulates are incorrect and students who didn’t point out that the 3rd postulate (diminishing MV) is violated can only receive partial credits and credits depend on the explanation for the other two postulates: 

- The postulate of scarcity is satisfied, because there are not enough of the items humans find desirable to satisfy everyone’s wants. (4 points)

- The postulate of substitution is satisfied, because Chris is willing to give up some of one good to get more of another good. (4 points)

Note: Scarce is not the same thing as limited.

(ii) 12 points

The maximum surplus of drinks = 7 (4 points)

The maximum surplus of food = 1 (4 points)

Kim would prefer the surplus of drinks (4 points) 

Credits depend on the explanations. Students who guess the answer but with wrong explanation can only receive partial points.

Note: 

Common error 1 

“Kim would prefer the surplus of drinks because 7 drinks are more than 1 food.” 

( This statement is totally wrong. 

Common error 2

“Kim would prefer the surplus of food because she is willing to give up more food to get additional drink” 

( Students with this statement might misunderstand the question. 
Question #6  Juyoung Cheong

a. 0-1 pt: True or False / no explanations or something irrelevant answer or if just the question rewritten down 

    2-3 pts: True or False/ simple answers

    3-4pts: True or False/ if mentioned opportunity cost (time waiting line) or value of the goods but not enough 

    4-5pts: True or False/ good explanations on how the ratio (value/cost) determines who waits the longest but wrong conclusions

   6pts: True/ good explanations on how the ratio (value/cost) determines who waits the longest and get the right answer.

b. 0-1 pt: True or False / no explanations or something irrelevant answer

    2-3 pts: True or False/ if confused with MV and Surplus

    3-4pts: True or False/if mentioned the difference in MVs but wrong interpretation on Surplus

    4-5pts: False/ if just mentioned the difference in MVs 

    5-6pts: False/ good explanation on surplus and point out the difference in MVs

c. 0-1 pt: True or False / no explanations or something irrelevant answer

    2-3 pts: True or False/ if mentioned government try to solve competition but not mentioned the government create the problem

    3-4pts: False/ if only mentioned the increased competition 

    5-6pts: False/ good explanation on shortage and problems followed by shortage

d. 0-1 pt: True or False / no explanations or something irrelevant answer

     2-3 pts: True or False/ if only mentioned high price

    3-5pts: True or False/ if tried to link the elasticity and profits or total revenue…

    6pts: True/ if shown exactly how the elasticity impacts on profits or total revenue and why a firm should increase price up when demand is inelastic
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